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0
X1=?
9115.252
Y1=?

0

<< T INIX2=11 >>
X2=7
0

X2=?
9214.703
Y2=?

9165.466643

5168.909616

LX=
50.6091401

A(KA)=
1°05'13.25”

S(KA)=
50.60185367

A(X1)=
69°03'30.78”"

S(X1)=
50.36290702




13) A(X1)= << CHOKUSEN >>
69°03'30.78”| ¢ 1 1 “» << ENDIX1=rt >>
S(XL)= ) X1=2
50.36290702 EXE 0
149 {<< cHokusen >> ]
<< ENDIX1=11 >>
X1=2 ( ) “»
' O MODE
09-CLO.EN)
T OO
.
( ()
)
( )
X(1P)="?
T=?
KA(BTC)
( )
)
01) A(R=+:L=-)="? X(KA)=?

150

»




02)

03)

04)

05)

06)

07)

08)

09)

X(KA)=?

X(KA)=?
9653445
Y(KA)=?
0

<< T INX=1T >>

X(1P)=?
0

X(1P)=?
9823.202
Y(IP)=?

<< EN CHUSIN >>
<< ENDIXM=TT >>
XM=?

0

XM=?
9433.002
YM=?

YM=?
5311.054
R=?

9718.197663

5404.131576

9653.445

5302.554

)

9823.202

)

5514.236

9433.002

5311.054

300

| 2
EXE

| 2
EXE

| 2
EXE

| 2

»
EXE

»

»
EXE

X(KA)=?
9653.445
Y(KA)=?
0

<< T INX=1t >>
X(I1P)=?

0
X(1P)=?
9823.202
Y(1P)=?
0

<< EN CHUSIN >>
<< ENDXM=1T >>
XM=?

0
XM=?
9433.002
YM=?
0
YM=7
5311.054
R=?
0
LX=
Fkk Kkkk
X=
9718.197663
Y=
5404.131576
LX=

121.03027




10)

11)

12)

13)

KA(BTC)

LX= A(KA)=
120.03027 ( ( ) ) “’ 6°12'40.87"
S(KA)=
EXE 120.4612446
A(KA)= A(X1)=
6°12'40.87” 20°16'58.7"
S(KA)= ( ) “» S(X1)=
120.4612446 EXE 300.0000026
A(X1)= << EN CHUSIN >>
20°16'58.7” | ) “’ << ENDIXM=TT >>
S(X1)= ( ) XM=2
300.0000026 EXE 0
<< EN CHUSIN >> j
<< ENDIXM=Tt >> | ( )
XM=? “’
0 MODE
12-CLO SUI) )
e}
( () ()
( )
X(1P)=?
XN, YN
e
LX T=?
« )
(KA KE)
A << RIGHT >>
(XN,YN) << LEFT >>

)



01)

02)

03)

04)

05)

06)

07)

08)

A(R=+:L=-)=?

0
X(KA)=?

0
X(KA)=?
100
Y(KA)=?

0

<< T INX=1T >>
X(1P)=?

0
X(1P)=?
200
Y(1P)=?

0

<< ENDXN=TT >>
XN=2

0
XN=?
188.6477
YN=?

0
<< LEFT >>
W=

4.000004326

160

100

188.6477

N

147.1958

(

)

[EXE

[EXE

X(KA)=?
0
X(KA)=?
100
Y(KA)=?
0

<< T INX=1T >>
X(1P)=?

0
X(IP)=?
200
Y(IP)=?
0

<< ENDIXN=1t >>
XN=?

0
XN=7?
188.6477
YN=7?

0
LX=

*%x% . **k*k%k

<< LEFT >>

4.000004326

186.198517

150.3583207




09)

10)

11)

12)

186.198517 | (

150.3583207

LX=
100.0000201

A(KA)=
3°43'44.36"

S(KA)=
99.83058048

[ << ENDIXN=TT >> |

XN=? (
0

LX=
100.0000201

EXE
) A(KA)=
3°43'44.36"
“» S(KA)=
99.83058048

<< ENDIXN=1t >>

) =7
( ) \ﬂ'b XN=7 ;

MODE

o W

08-CLO..CHOK)

|

'S (D (@ &) EE) BB)

09-CLO.EN)

|

'S (D (@ ) EE) BxE)

/ 12-CLO SUI)

ON" (
3
(2
(
1)
2) (
3)

S nlnlalEEa)
(1



(4 ( 5
) « )
100 10 1
( 5) 500
« ) 500 ¢ )
( )
() ( () () )
A(R+:L-,i9KE)=? EBIEGE X(SITEN)=?
«C )
/
() «C )
() ( ) «C )
X g:?
( ()
T=? () )
( )
/ ()
0.1) [escyi:n0)=2 ESC(Y1:N0)=?
0 EXE 1
( o) ) “’ PITCH=?
100
02) (Esc(vi:n0)=2 100 PITCH=?
1 ( 100
PITCH=? EXE ) “’ KUKAN=?
100 500

EXE) ( 100 (EXE))



0.3)

01)

02)

03)

04)

05)

05.1)

05.2)

PITCH=?

100
KUKAN=?

500

A(R+:L-,19KE)="?

0
X(SITEN)=?

0
X(SITEN)=?
100
Y(SITEN)=?

0
X(SYUTEN)=?

0
X(SYUTEN)=?
174.3637
Y(SYUTEN)=?

0
A(R=+:L=-)=?

0
A(R=+:L=-)=?
160
R=?

0

500
EXE

)

300 (EXE)

(i

(i) (ExE

100

100

174.3637

)

141.6982

160

300

EXE

AQR+:L-,i3KE)=?

0
X(SITEN)=?

0
X(SITEN)=?
100
Y(SITEN)=?

0
X(SYUTEN)=?

0
X(SYUTEN)=?
174.3637
Y(SYUTEN)=?

0
A(R=+:L=-)=?

0
A(R=+:L=-)=?
160
R=?

0
LX=

85.33333333




05.3)

06)

07)

08)

09)

10)

11)

12)

LX=
85.33333333

<< ENDXN=TT >>
XN=?
0

XN=?
163.8815
YN=?

<< RIGHT >>

4.000033495

166.0551385

136.1368894

LX=
75.33493

A(KA)=
2°07°00.47"

S(KA)=
75.29379848

<< ENDIXN=TT >>
XN=?
0

163.8815 (EXE)

N

139.4948

EXE

<< ENDIXN=TT >>
XN=?

0
XN=7?
163.8815
YN=7

0
LX=

*k*k R *khkk

<< RIGHT >>

4.000033495

166.0551385

136.1368894

75.33493

A(KA)=
2°07700.47"

S(KA)=
75.29379848

<< ENDIXN=1t >>
XN=?
0




01)

02)

03)

04)

l 10-CHOKU SUI) .

'S M M@ EE B8

X1=2
0
X1=2
100
Y1=2
0
(<< T INdX2=1t >>
X222
0
X227
150
Y222
0

X2=?
EXE T=2
( )
<< RIGHT >>
<< LEFT >>
X1=?
100
"’ Y1=?
100 (ExE) 0
<< T INX2=11 >>
X2=7
» :
100 (EXE)
X2=?
150
"» Y2=?
150 (Exg) 0
<< ENDIXN=1T >>
XN=?
» ;
200 (EXE]




05)

06)

07)

08)

09)

10)

<< ENDIXN=1T >>
XN=?

0
XN=7?
186.254
YN=7?

0
<< LEFT >>

63.52087746

X=
129.4392
Y=
158.8784
S1=
65.8280524
S2=

45.97534647

<< ENDIXN=TT >>
XN=?

| 2

186.254

| 2

130.471

E ) ) ()
| 2
EXE
( ) )
»
EXE
( 8
»
EXE

XN=?
186.254
YN=?

<< LEFT >>

63.52087746

X=
129.4392
Y=
158.8784
S1=
65.8280524
S2=

45.97534647

<< ENDXN=TT >>
XN=?
0




01)

02)

03)

04)

%

'S M MM EE B8

X(BC)=?

0
X(BC)=?
1575.0678
Y(BC)=?

0

<< T INX=11 >>
X(1P)=?

0
X(1P)=?
1750
Y(IP)=?

0

(

(

1575.0678

1536.0583

)

1750

)

1400

X(IP)=? SHIFT
(ExP) (EXE) T=?
( ()
() )
(BC EC
<< RIGHT >>
<< LEFT >>
( )
X(BC)=?
1575.0678
“’ Y(BC)=?

< T INN=Tt >>
X(IP)=?

0
X(1P)=2
1750
Y(IP)=2

0
R (R:+ , L:—) =?

0




05)

06)

07)

08)

09)

10)

11)

12)

R(R=+,L=-)=?

<< ENDIXN=1T >>
XN=?
0

XN=?
1580.2429
YN=?

<< LEFT >>

4.999987881

1583.111502

1530.118741

LX=
10.00001711

A(BC)=
1°25'56.63"

S(BC)=
9.998975474

<< ENDIXN=1T >>
XN=?
0

200 (EXE]

1580.2429

1526.0235

EXE

)

<< ENDIXN=TT >>
XN=?

0
XN=7?
1580.2429
YN=7?

0
<< LEFT >>
W=

4.999987881

1583.111502

1530.118741

LX=
10.00001711

A(BC)=
1°25'56.63"

S(BC)=
9.998975474

<< ENDIXN=TT >>
XN=?
0




01)

02)

03)

04)

05)

13-ZAHYO MEN)

'S M MG EE B8

C )

X1=?

0
X1=?

75.547
Y1=?

0
X2=2

0
X2=?

110.561
Y2=?

0
<< ENDIXN=TT >>
XN=?

0

75.547

20.117

110.561

74.224

80.997

XN=?
SHIET) (ExP) (EXE)
X1=?
||’ 75.547
Y1=?
EXE 0
X2=?
| 2 0
[EXE.
X2=?
||’ 110.561
Y2=?
EXE 0
<< ENDIXN=TT >>
||’ XN=?
0
EXE
XN=?
||’ 80.997
YN=?
EXE 0




06)

07)

08)

09)

10)

11)

12)

13)

XN=?
80.997
YN=?

<< ENDIXN=1T >>
XN=?

0
XN=?
18.008
YN=?

0

<< ENDIXN=11 >>
XN=?

0
XN=?
25.374
YN=?
0
[ << ENDIXN=TT >>
XN=?
0
MENSEK1=
6008.881479

X1=?

120.69

18.008 (EXE

105.299 (EXE

25.374

50.249 (EXE

(mt )

(k7] (EXP) (EXE]

EXE

<< ENDPXN=1T >>
XN=?

0
XN=?
18.008
YN=?

0

<< ENDIXN=TT >>
XN=?

0
XN=?
25.374
YN=?

0

<< ENDIXN=TT >>
XN=?
0

MENSEK 1=
6008.881479

X1=?




01)

02)

03)

04)

05)

14-HELON MEN)

'S M M@ EE 68

S1=?
0
S1=?
15.291
S2=7
0
S2=7
8.363
S3=?
0
TAKASA=
7.867973063
MENSEK1=
62.73134923
GOUKEI=
62.73134923

()

»

15.291

»

8.363

»

15.946

EXE

() ()

S1=?
15.291
S2=?

S2=?
8.363
S3=?

TAKASA=
7.867973063

MENSEK 1=
62.73134923

GOUKEI=
62.73134923




06) [g1=2

ol ¢ ) “’

el
/ 14-HELON MEN)
"ON" ( ) 'S
( o )
YES ( )
( ) (o)
S1(END 3t )=?
( )

05) X, v-IN(Y1:NO)=2 ( o S1(END3T )=?
° . °
) (s1(END3r )=2 S1(END 3T )=2
0 15.291
“’ $2=2
15.291 0
02) (s1(END3m )=2 $2=2
15.291 8.363
$2=2 “’ $3=2
0 8.363 0
03) (5227 Si=
8.363 15.291
§3=7 “’ TAKASA=
0 15.946 8.205002843




03.3)

03.6)

04)

05)

S1=
15.291
TAKASA=
8.205002843

S2=
8.363
TAKASA=
15.00211628

S3=
15.946
TAKASA=
7.867973063

MENSEK1=
62.73134923

GOUKEI=
62.73134923

06)

EXE

S2=
8.363
TAKASA=
15.00211628

S3=
15.946
TAKASA=
7.867973063

MENSEK 1=
62.73134923

GOUKEI=
62.73134923

S1(END31T )=?

/ (14-HELON MEN)

"ON"  ( ) 'e)
-« 02,12) =
()
)
: ¢ )
<I:/\
-
( )
TAKASA(S2) | (X1.Y1)
(X3Y3)
X3,Y3 e (X2,Y2)
e

TAKASA(S1)



01)

02)

03)

04)

05)

)

YES ) (M EE
(7 ) (EXEX (EXE)
1 1 X3(END 31 )=?
(
1(X1Y1=X2Y2) 1
2(X2,Y2 = X3,Y3) 2
3(X1,Y1=X3Y3) 3
X,Y-IN(Y1:N0)=? ( .
o T @ )
1 (EXE
X1=? 1
0 o
(o] (ExE )
EXE
X1=? 1
0 "o
v1=2 (o) (Exe )
0 EXE
X2=?
0
7.668 (EXE)
X2=?
7.668
Y2=?
0 13.229

(sHiFT) (ExP) (EXE
)

X1=?

0
X1=?

0
Y1=?

0
X2=7

0
X2=?
7.668
Y2=?

0
X3(ENDITT )=?

0




06)

07)

08)

09)

10)

11)

12)

13)

X3(END 3T )=?

0
X3(END 31T )=?
-0.242
Y3=?

0
S1=

15.29067248
TAKASA=
8.205002765

S2=
8.362973454
TAKASA=
15.00184243

S3=
15.94583645
TAKASA=
7.867885163

MENSEK 1=
62.730005
GOUKEI=
62.730005
X3(END 3T )=?
0
X3(END 3T )=?
8.291
Y3=?
0

(=) 0242 (ExE

15.944

1
)
EXE
2
)
EXE
3
)
EXE
)
EXE
8.291 (ExE)

3.581 (EXE)

X3(END 31T )=?
-0.242
Y3=?

S1=
15.29067248
TAKASA=
8.205002765

S2=
8.362973454
TAKASA=
15.00184243

S3=
15.94583645
TAKASA=
7.867885163

MENSEK =
62.730005
GOUKEI=
62.730005
X3(END3mt )=
0
X3(END 31T )=?
8.291
Y3=?
0
S1=

15.94583645
TAKASA=
8.344391744




14)

15)

16)

17)

18)

S1=
15.94583645
TAKASA=
8.344391744

S2=
15.02184603
TAKASA=
8.857653432

S3=

9.031292377
TAKASA=

14 .73303049

MENSEK 1=
66.529153

GOUKEI=
129.259158

X3(END3TT )=?

(m

MODE

01)

o W

1
[EXE]
2
EXE
3
EXE
EXE
)
SHET) (EXP) (EXE]
1

S2=
15.02184603
TAKASA=
8.857653432

S3=
9.031292377
TAKASA=
1473303049

MENSEK 1=
66.529153

GOUKEI=
129.259158

X3(END 31T )=?

X,Y-IN(Y1:N0)=?
1




H1

01)

02)

03)

04)

15-DAIKI MEN)
e}

1
4 -
\
H
H1
H
1) 2 3)
(MENSEKI) \| (MENSEKI) (MENSEK )
S~ S S IS
() () ()
H1=? 1 << H HEN3S=m1 >>
0
7.61
<< H HEN?S=mt >> S=?
S=? 8.36
0 “’ H=?
8.36 0
S=? MENSEK 1=
8.36 85.92408
H="? “‘ GOUKEI=
0 12.946 85.92408
MENSEK 1= << H HEN3S=m >>
85.92408 | ( “’ S=?
GOUKEI= 0
85.92408




05)

06)

07)

08)

09)

10)

<< H HEN?S=It >>
S=?
0

<< H HEN?S=t >>
S=?
0

I o Wwm

MENSEK 1=
118.987785

GOUKEI=
204.911865

<< H HEN3S=t >>
S=?
0

(mt )

SHIFT

10.33

9.87

13.781

EXE

e}

H1=?

<< H HEN3S=mt >>
S=?
0

MENSEK 1=
118.987785

GOUKEI=
204.911865

<< H HEN?S=It >>
S=?
0




01)

02)

03)

04)

16-HOUSY MEN)
te} )

SHIFT) (EXP] (EXE_

NO=

1
A=?

0
A=?
30.2204
S=?

0
NO=

2
A=?

0
A=?
52.1043
S=?

0

A=?

(30 22'04")

30.2204

80.331

(52 °10'43")

52.1043

100.946

A=?
30.2204
S=?

NO=

A=?

A=?
52.1043
5=?

NO=

A=?




05)

06)

07)

08)

09)

10)

11)

NO=

3
A=?

0
A=?
88.3659
S=?

0

4
<< ENDIA=TT >>
A=?

0
A=?
102.4429
S=?

0

5
<< ENDA=TT >>
A=?

0
MENSEK 1=

2878.56996

NO=

1
A=?

0

(88 36 '59 "

88.3659

98.817

(102 44 '29 ")

102.4429

60.645

(m )

SHIFT

EXE

| 2

| 2

| 2

| 2

»

A=?

88.3659

S=?
0
4

<< END9A=TL >>
A=?

0
A=?
102.4429
S=?
0
5

<< END9A=TT >>
A=?

0
MENSEK 1=
2878.56996
NO=
1
A=?
0




01)

02)

17-SYA.SUL.H)

'S M @M@ EE 68

(KAKU)

7

(SYAKYORI) (TAKASA)

(SUIHEI S)
() ExE)( )
() (ExE)(
CIEEC )
SYAKYORI IN--1 KAKU=?
SUIHEI S IN--2 “’
TAKASA IN--3?
0 1 |(EXE
KAKU="? (45°52'36") SYAKYORI1=?
0
I
45,5236




03)

04)

05)

01)

02)

03)

04)

05)

SYAKYORI=?
0
SUIHEI S=
86.38233506
TAKASA=

83.77854788

SYAKYORI IN--1
SUIHEI S IN--2
TAKASA  IN--3?

0
SYAKYORI IN--1
SUIHEI S IN--2
TAKASA  IN--3?

0
KAKU=?

0
SUIHEI S=?

0
SYAKYORI=

120.3359512

TAKASA=

83.77851387

SYAKYORI IN--1

SUIHEI S IN--2

TAKASA  IN--3?
0

120.336

EXE

e}

2 |EXE
(45°52'36")
45,5236

86.3823

EXE

e}

SUIHEI S=
86.38233506

TAKASA=
83.77854788

SYAKYORI IN--1
SUIHEI S IN--2
TAKASA  IN--37?

0
KAKU="?

0
SUIHEI S=?

0
SYAKYORI=

120.3359512

TAKASA=

83.77851387

SYAKYORI IN--1
SUIHEI S IN--2
TAKASA  IN--3?

0




01)

02)

03)

04)

05)

SYAKYORI IN--1

SUIHEI S IN--2

TAKASA  IN--3?
0

KAKU=?

TAKASA=?

SYAKYORI=
120.3359312

SUIHEI S=
86.38228569

SYAKYORI IN--1

SUIHEI S IN--2

TAKASA  IN--3?
0

3 [(EXE

(45°52'36")

45,5236

83.7785

MODE

o W

KAKU=?
0
TAKASA=?
0
SYAKYORI=
120.3359312
SUIHEI S=

86.38228569

SYAKYORI IN--1

SUIHEI S IN--2

TAKASA  IN--3?
0




01)

02)

03)

04)

05)

18-HENSHIN/MOKUHYOU)

'S M M E) EE 68

/

(YOTENKAN S) // I

(HOSEI A1)

(KANSOKU A1)

MOKUHYOU--1
KANSOKU --2
SOUGOD  --3 ?

YOTENKAN S=7?

YOTENKAN S=7?
1500
HENSIN S1=?

HENSIN A1=?

KANSOKU A1=?

(HENSIN S1)

(HENSIN A1)

1 (EXE
»
1500
| 2
5 (EXE

(125 °10'20")

»

125.1020

(55°00'00")

»

55 (EXE]

YOTENKAN S=7?

0
YOTENKAN S=?
1500
HENSIN S1=?

0
HENSIN A1=?

0
KANSOKU A1=?

0
HOSEI A=

55°09’22.02"




06)

HOSEI A=
55°09' 22.02" | ( )
EXE
07) [ yokuHYOU--1
KANSOKU --2 ( )
SOUGD  --3 ? -~
0

MOKUHYOU--1
KANSOKU --2
So0UGo  --3 ?

' 18-HENSHIN/KANSOKU) '

'S (D (M &) EE) B8

(YOTENKAN S)

Al Al

(HOSEI A1)

(HENSIN A1) X (KANSOKU S)

A A2

(HOSEI A2)

(KEISAN S)

A2
(KANSOKU A2)

0D (MokuHYoU--1
KANSOKU —-2 (
SOUGO  --3 ?
0 2 [EXE
02) (yoTENKAN S=7
0
2000

»

»

YOTENKAN S=?

YOTENKAN S=7?
2000
HENSIN S1=?




03)

04)

05)

06)

07)

08)

09)

10)

YOTENKAN S=7?
2000
HENSIN S1=?

HENSIN Al1=?

KANSOKU A1=?

KANSOKU A1=?
170
KANSOKU A2=?

KANSOKU A2=?
156
KANSOKU S=?

[HosEl Al=

168°28’33.81"
HOSEI A2=
157°04’ 30.52”

KEISAN S=
852.3208656

MOKUHYOU--1
KANSOKU --2
SOUG0  --3 7?

16 (EXE

(258 °16'10")

258.1610

(170 ©0 '00 ")

170
(156 00 '00 "

156

852.654

EXE

e}

HENSIN A1=?

KANSOKU A1=?

KANSOKU A1=?
170
KANSOKU A2=7?

KANSOKU A2=?
156
KANSOKU S=?

HOSEI Al=
168°28’ 33.81"

HOSEI A2=
157°04’ 30.52"

KEISAN S=
852.3208656

MOKUHYOU--1
KANSOKU --2
SOUGO  --3 ?




( 18-HENSHIN/SOUGO)

'S (M (M &) EE) 68

1 2
Al
(HENSIN AL) AL
(KANSOKU AL)
T A2
(HENSIN A2)
5 (KANSOKU S)

(HENSIN S2) \
S1 A2
(HENSIN S1) A\ CHOSEl A2)

_ ) ( (HOSEI AD)
_ED g
B

(KEISAN S) (KANSOKU A2)

01)

02)

03)

04)

(YOTENKAN S)

MOKUHYOU--1
KANSOKU --2
SOUGOD  --3 ?

YOTENKAN S=7?

YOTENKAN S=7?
2728.2
HENSIN S1=?

HENSIN S1=?
68.888
HENSIN S2=?

»

3 [EXE

»

2728.2

»

68.888

»

45.455

YOTENKAN S=7?

YOTENKAN S=?
2728.2
HENSIN S1=?

HENSIN S1=?
68.888
HENSIN S2=?

HENSIN Al1=?




05)

06)

07)

08)

09)

10)

11)

12)

HENSIN A1=?

HENSIN A1=?
37.2620
HENSIN A2=?

KANSOKU A1=?

KANSOKU A1=?
230.2525
KANSOKU A2=?

KANSOKU A2=?
160
KANSOKU S=?

HOSEI Al=
227°35' 26.84"

HOSEI A2=
163°16’ 08.98”

KEISAN S=
779.9066952

MOKUHYOU--1
KANSOKU --2
S0uGo  --3 ?

(37 26 '20 ")

37.2620

(332 20'23 ")

332.2023

(230 25'25")

230.2525

(160 VO '00 ")

160

769.252

MODE

o W

»

HENSIN A1=?
37.2620
HENSIN A2=?

KANSOKU A1=?

KANSOKU A1=?
230.2525
KANSOKU A2=?

KANSOKU A2=?
160
KANSOKU S=?

HOSEI Al=
227°35' 26.84”

HOSEI A2=
163°16’ 08.98”

KEISAN S=
779.9066952

MOKUHYOU--1
KANSOKU --2
S0uGo  --3 ?




01)

02)

03)

04)

05)

19-3 KAKKEI1/2 HEN)
'S M M E) EE B8

88.4721

(MENSEKI)
«— — >
2 HEN --1
2 KAKU--2 (
3 HEN --3 ?

0 1
S1=?

0

30
S1=?
30
S2=?

0 25
52=? (88°47'21")
25
A3=?

0
S3=

38.64327648 ( )
Al=

50°54’36.61”

[EXE

EXE

[EXE

S1=?

S1=?
30
S2=?

S2=?
25
A3=?

S3=

38.64327648
Al=

50°54’ 36.61”

A2=
40°18’ 02.39”
MENSEK 1=
374.9162647




06)

07)

01)

02)

03)

A2= 2 HEN --1
40°18’02.39" | ( ) “’ 2 KAKU--2
MENSEK 1= 3 HEN --3 ?
374.9162647 EXE
2 HEN --1 2 i
2 KAKU--2 ( ) “»
3 HEN --3 ? oo
0 (1)
19-3 KAKKEI/2 KAKU)
e ©
(MENSEKI)
< >
2 HEN --1 A1=?
2 KAKU--2 ( “’
3 HEN --3 ?
0 2 |EXE
A1=7 (55 °13'27 ") A1=?
0 \I’ 55.1327
A2=?
55.1327
Al=? (36°14'55") A2=7
55.1327 "’ 36.1455
A2=? $3=?
0 36.1455




04)

05)

06)

07)

01)

A2=? A3=
36.1455 "’ 88°31’ 38”
S3="? S1=
0 42,672 35.06193068
A3= 1 S2=
88°31’ 38" ) 25.23986913
S1= | MENSEK 1=
35.06193068 442 .3330975
S2= 2 HEN --1
25.23986913 | ( "» 2 KAKU--2
MENSEK I= 3 HEN --3 ?
442 .3330975 0
2 HEN --1 2 ~
2 KAKU--2 ( )
3 HEN --3 ? . "»
0 O
19-3 KAKKEI/3 HEN)
el @
(MENSEKI)
€
2 HEN --1 S1=?
2 KAKU--2 0
3 HEN --3 ? “‘
0 3 |EXE




02)

03)

04)

05)

06)

07)

S1=?

S1=?
12.345
S2=?

S2=?
16.448
S3=?

Al=

45°08’11.7”
A2=

70°47'52.8”

A3=
64°03'55.5”
MENSEKI=
91.30107187

2 HEN --1
2 KAKU--2
3 HEN --3 ?

12.345

16.448

15.663

e}

S1=?
12.345
S2=?

S2=?
16.448
S3=?

Al=

45°08'11.7”
A2=

70°47'52.8”

A3=
64°03'55.5”
MENSEK 1=
91.30107187

(2 HEN —-1

2 KAKU--2
3 HEN --3 ?




20-SUIJUN)

'S M @ [@ EE) B8

T.P
(i
e
BS IH
| | AH
GH
GH
01
) GH(JIBAN)=?
0
02)

03)

04)

05)

<< END9BS=mt >>
BS(KOUS1)=?
0

IH(KIKAD)=
101.5

<< TPIFS=mt >>
FS(ZENS1)=?

GH(JIBAN)=
100.3

100 (ExE)

15

1.2

EXE

EXE

EXE

FS(T 3TP)=?
(sHiFT) (EXP) (EXE)

<< END3BS=mt >>
BS(KOUS1)=?
0

IH(KIKAD)=
101.5

<< TPIFS=mt >>
FS(ZENS1)=?

GH(JIBAN)=
100.3

<< TPIFS=mt >>
FS(ZENS1)=?




06)

07)

08)

09)

10)

11)

12)

13)

<< TPIFS=mt >>
FS(ZENS1)=?

GH(JIBAN)=
100.6| ¢

<< TPIFS=1t >>
FS(ZENS1)=?

<< END3BS=mt >>
BS(KOUSI)=?
0

IH(KIKAD)=
102.4] (

<< TPIFS=m >>
FS(ZENS1)=?

GH(JIBAN)=

100.9| ¢

<< TPIFS=mt >>
FS(ZENS1)=? (

(m )

(sHFT) (EXP) (EXE)

18 [EXE

EXE

GH(JIBAN)=
100.6

<< TPPFS=mt >>
FS(ZENS1)=?

<< ENDIBS=mt >>
BS(KOUSI)=?
0

IH(KIKAD)=
102.4

<< TPPFS=mt >>
FS(ZENS1)=?

GH(JIBAN)=
100.9

<< TPPFS=m >>
FS(ZENS1)=?




01)

02)

03)

04)

'S M @M EE B8

21-JUDAN/KE IKAKU)

>
KEIKAKU --1
KIRI:MORI--2 ?
0
1 (ExE
HO(KEIKAKU)=?
0
250 (EXE
HO(KEIKAKU)=?2
250
L(KUKAN CHO)=?
0 60 (EXE
<< KOUBAI >> . -
UP(+),DWN(-)
[1(MAE)=?
0 75 (EXE

HO(KEIKAKU)="?

0
HO(KE IKAKU)=?
250
L(KUKAN CHO)=?

0
<< KOUBAI >>
UP(+),DWN(-)
[1(MAE)=?

0
[1(MAE)=?
7.5
12(USIR0)="

0




05)

06)

07)

08)

I1(MAE)=? t << ENDIXN=T >>
12(USIR0)=? 0
0 =] 4 (EXE
<< ENDIXN=TT >> HN(KE IKAKU)=
XN=? “’ 250.3510417
0 YN(KOUTEISA)=
5 -0.02395833333
HN(KEIKAKU)= << ENDIXN=TT >>
250.3510417 ) “’ XN=?
YN(KOUTEISA)= 0
-0.02395833333 EXE
<< ENDIXN=Tt >> _
XN=? ) “’
0 MODE
) "OFF"

(MAIN)
(BACKUP)




' 21-JUDAN/KIRI zMORI) '

'S M @M EE B8

()
()
0 (keikaky --1 HO(KE IKAKU)=?
KIRI:MORI--2 2 | ¢ 0
. »
2 |EXE
02) (o (KE 1KAKU)=2 HO(KE IKAKU)=?
0 146.321
“’ I(KOUBAI)=?
146.321 0
03) (Ho(KE IKAKU)=2 s << ENDIXN=TT >>
146.321 \I’ XN=2
I (KOUBAI)=? 0
0 3.4 [(EXE
049) (<< ENDIXN=TT >> GH(JIBAN)=?
XN=2 0
. »
10 (EXE
05) (GH(a1BAN)=" HN(KE 1KAKU) =
0 146.661
“» KIRI=
147.735 (EXE 1.074




06)

07)

08)

09)

10)

HN(KEIKAKU)=

146.661

KIRI=

1.074

<< ENDIXN=1T >>
XN=?

0

GH(JIBAN)="?

HN(KETKAKU)=
147.00
MORI=
1.78

1

7

<< ENDIXN=1T >>
XN=?

0

20 |EXE

145214 (EXE]

<< ENDIXN=1T >>
XN=?
0

GH(JIBAN)=?

HN(KEIKAKU)=
147.001
MORI=
1.787

<< ENDIXN=1T >>
XN=?
0




01)

02)

03)

04)

' 22-SUMIKIRI/CHOKUSEN) .

'S M @@ EE B8

Ne
(X\Y)

Ne
Neo
Neo
(MENSEKI)
Ne
XY)
Ne
(X\Y)
CHOKUSEN--1
ENKO -=2 (
FUTOUHEN--3 ?
0 1 ExE
X1=? Ne
0
100
X1=? Ne
100
Y1=?
0 100
X2=? No
0
51.629

X1=?
100
Y1=?

X2=?
51.629
Y2=?




05)

06)

07)

08)

09)

10)

11)

12)

X2=7
51.629
Y222
0
X322
0
X322
101.159
Y3=2
0
M(SUMIKIRI)=?
0
XA=
6488298867
YA=
114.373937
[xp=
57.38192846
YB=
132.9140043
L(HENCHO)=
1432129617
MENSEK 1=
102.518059 |
CHOKUSEN--1
ENKO -2

FUTOUHEN--3 ?

119.799

101.159

232,713 (EXE)

20 (ExE]

EXE

EXE

‘0 @

X3=?

X3=?
101.159
Y3=?

M(SUMIKIRI)=?
0

XA=

64.88298867
YA=

114 _373937

XB=

57.38192846
YB=

132.9140043

L(HENCHO)=
14.32129617

MENSEK =
102.518059

CHOKUSEN--1
ENKO --2
FUTOUHEN--3 ?




01)

02)

03)

04)

22-SUMIKIRI/ZENKO)

'S M @@ EE B8

CHOKUSEN--1
ENKO --2
FUTOUHEN--3 ?

X1=?

X1=?
100
Y1=?

Ne
Ne

»

2

»

100

»

100

»

51.629

X1=?

X1=?
100
Y1=?

X2=?
51.629
Y2=?




05)

06)

07)

08)

09)

10)

11)

12)

X2=?
51.629
Y2=?
0
X3=?
0
X3=?
101.159
Y3=?
0
R=?
0
XA=
70.60456165
YA=
112.0320085
XB=
59.86539218
YB=
138.5755796
L (HENCHO)=
20.50361179
MENSEK 1=
90.93972665
CHOKUSEN--1
ENKO  --2

FUTOUHEN--3 ?

119.799

101.159

232.713 (EXE)

20 |EXE

EXE

[EXE

MODE

o (W

X3=?
0
X3=?
101.159
Y3=?
0
R=?
0
XA=
70.60456165
YA=
112.0320085
XB=
59.86539218
YB=
138.5755796
L(HENCHO)=
20.50361179
MENSEK 1=
90.93972665
CHOKUSEN--1
ENKO -2
FUTOUHEN--3 ?




' 22-SUMIKIRI/FUTOUHEN) .

'S M @@ EE B8

Ne
(X\Y)

Ne
Neo
Ne
Ne
XxY)
CHOKUSEN--1 T
ENKO -2 ( " ’ ;
FUTOUHEN--3 2
0 3 (EXE
X1=2 Ne X1=2
0 "’ 100
Y1=2
100 0
X1=2 Ne X222
100 ;
Y1=? II»
0 100
X2=? Ne X222
0 "» 51.629
Y227
51.629 0
X2=2 Ne X3=7
51.629 " ’ ,
¥2=7
0 119.799




06)

07)

08)

09)

10)

11)

12)

13)

X3=?
0
X3=?
101.159
Y3=?
0
LI(HEN 1)=?
0
LI(HEN 1)=?
20
L2(HEN 2)=?
0
XA=
70.13848198
YA=
112.2227821
XB=
5564604454
YB=
128.9566937
M(SUMIKIRI)=
22.13717546
MENSEK 1=
99.96908515
CHOKUSEN--1

ENKO --2
FUTOUHEN--3 ?

101.159

232.713 (EXE)

20 (EXE]

10 (EXE

EXE

X3=?
101.159
Y3=?
0
LI(HEN 1)=2
0
LI(HEN 1)=?
20
L2(HEN 2)=?
0
XA=
70.13848198
YA=
112.2227821
XB=
55.64604454
YB=
128.9566937
M(SUMIKIRI)=
22.13717546
MENSEK 1=
99.96908515
CHOKUSEN--1
ENKO  --2
FUTOUHEN--3 ?




01)

02)

03)

04)

23-HEIKO 1D0)

'S M @ E) EE B8

(0)
X1=? 1
0
X1=?
50
Y1=?
0
<< T INX2=TT >>
X2=2
0
X2=? >
100
Y2=?
0

SHIFT) (ExP)

Nel
No2
X2="
EXE T1=?
Ne3
Ne4d
X4=?
EXE T2=?
1 2
( ) ()
Wl(R:+: L:—):’_)
(stFT) (ExP) (EXE
Nel '
X1=?
50
“» Y1=?
50 |(EXE 0
<< T INX2=TT >>
X2=?
| 2 ;
50 |EXE
X2=?
100
“» Y2=?
100 EXE) 0
<< ENDIX3=11 >>
X3=?
p .
150 (EXE)




05)

06)

07)

08)

09)

10)

11)

12)

<< ENDIX3=1t >>
X3=?

0
X3=?
120
Y3=?

0

<< T INX4=11 >>
X4=?

0
X4=?
65
Y4=?
0

<< ENDoW1=mt >>
W1(R=+:L=-)=?
0

WL(R=+:L=-)=?
-6
W2(R=+:L=-)=?

0

143.5858884

223.755369

A(X1)=
358°15’28.18"

S(X1)=
197.3556353

120 (EXE)

250 (ExE)

65 (EXE

296 (EXE)

6 (EXE

5 (EXE

X3=?
120
Y3=?

<< T INX4=11 >>
X4=7

0
X4=?
65
Y4=?

0

<< ENDoW1=mt >>
WL(R=+:L=-)=?
0

W1(R=+:L=-)=?
-6
W2(R=+:L=-)=?

0

143.5858884

223.755369

A(X1)=
358°15'28.18"

S(X1)=
197.3556353

<< ENDW1=mt >>
WL(R=+:L=-)=?
0




13)

01)

02)

<< ENDW1=mt >>

WL1(R=+:L=-)=? ( )
(eril=)=? »

24-7A HENKAN/?2 TEN)
e} @

()
A A2 A3 ( )
()
A4 ,
Al ()
—_ > ()
B3
B2
A
(
A2 )
q\ B4
\
\
\
\
L3 B1 ()
2 TEN --1
HERMART--2 ? (
I
0
1 (EXE
<< MOTO ZAHYO >> (Ne1) 1
X1=? "»
0
50

(Nel)
(Ne2)

(Ne3)
(Ne3)
Ne

<< MOTO ZAHYO >>
X1=?

0
X1=?
50
Y1=?

0

() (Ne1)
() (Ne2)




03)

04)

05)

06)

07)

08)

09)

10)

X1=?
50
Y1=?

X2=?

X2=?
150
Y2=?

<< SAKI ZAHYO >>
X1=?

0
X1=?

150
Y1=?

0
X2=?

0
X2=?

250
Y2=?

0
<< ENDIX=m >>
X(MOT0)="?

0

(Nel)

(Ne2)

(Ne2)

(Nel)

(Nel)

(Ne2)

(Ne2)

(Ne3)

100 (Exg)

150 (EXE)

2

25 (EXE

150 (ExE)

200 (ExE)

250 (ExE]

2

210 (EXE

200 (ExE)

X2=?
0
X2=?
150
Y2=?
0

<< SAKI ZAHYO >>
X1=?

0
X1=?
150
Y1=?

0
X2=?

0
X2=?
250
Y2=?

0

<< ENDIX=TT >>

X(MOTO)=?
0
X(MOTO)=?
200
Y (MOTO)=?
0




11) X(MOT0)=? (Ne3) XGSAKD)=
200 227.92
Y(MOTO)=? II’ Y(SAK)=

0 120 293.44
2 Prcsay= << ENDIX=mt >>
221.92| ) ||» X(MOT0)=?
Y(SAKI)= .
293.44 —E
13) << ENDIX=1T >> ( | j
X(MOT0)="? \
0 MODE ’
O
24-7A HENKAN/HERMART)
o)
M () (Nel)
A A3 C) (Ne2)
() (Ne3) ,
< () (Ned)
M | () (Ne2)
A2
T () (Ne3)
/ () (Ned)
B/ () (N
B3 NS
A
()
A3
(
Q\ __ 5 )
\ B1
\\ /.
\ " Al -
A2




01)

02)

03)

04)

05)

06)

07)

08)

2 TEN --1
HERMART--2 ?

<< MOTO ZAHYO >>
X1=?

0
X1=2
100
Y1=2
0
X2=7
0
X2=2
285.262
Y222
0
[x3=2
0
X322
111.234
Y322
0

<< SAKI ZAHYO >>
X1=?
0

2
(Ne1) 1
100 (EXE)
(Nel)
100 (EXE)
(Ne2)

285.262

(Ne2) 2

100 (EXE)

(Ne3)

111.234

(Ne3)

169.124

(Ne1) 1

109.776

| 2

| 2

| 2

<< MOTO ZAHYO >>
X1=?

0
X1=?
100
Y1=?

0
X2=?

0
X2=?
285.262
Y2=?

0
X3=?

0
X3=?
111.234
Y3=?

0

<< SAKI ZAHYO >>
X1=?

0
X1=?
-109.776
Y1=?

0




09)

10)

11)

12)

13)

14)

15)

16)

X1=?
-109.776
Y1=?

X2=?

X2=?
~74.407
Y2=?

[x3=2

X3=?
-175.499
Y3=?

<< ENDIX=m1 >>
X(MOT0)=?

X(MOTO)=?
150.384
Y(MOTO)=?

X(SAKI)=
-198.8826648

Y(SAKI)=
2943833032

(Nel)

225.674

(Ne2)

74.407

(Ne2) 2

408.139

(Ne3)

175.499

(Ne3)

249.857

(Ne4)

150.384

(Ne4)

200.338

»

| 2

| 2

| 2

| 2

»

X2=?
0
X2=?
~74.407
Y2=?
0
X3=7
0
X3=7
-175.499
Y3=?
0

<< ENDX=m1 >>
X(MOT0)=?

X(MOTO)=?
150.384
Y(MOTO)=?

X(SAKI)=
-198.8826648

Y(SAKI)=
2943833032

<< ENDIX=1T >>
X(MOTO)="?




17) << ENDX=11 >> , | _
X(NOT0)=? |
0 MODE ’
( 25-EN CHUSIN/1TEN) )

'S M @ E) EE B

= ()

X(1P)=? SHIFT
T=?
(BC IP)
" (BC IP)
()
0 (11eN--1 X(BC)=?
2TEN--2 ( 0
3TEN--3 ? "’
0 1 ExE
92) (xcy=2 X(BC)=?
0 120
"» Y(BC)=?
120 0
03) X(BC)=? < T INX=m >> |
120 X(1P)=?
Y(BC)=? "» 0
0 150




04)

05)

06)

07)

08)

09)

<< T INX=Tt >>
X(1P)=?

0
X(1P)=?
200
Y(1P)=?
0
R=?
0
XM(R)=
26.29574287
YM(R)=
2249634057
XM(L)=
213.7042571
YM(L)=
75.03659429
1TEN--1
2TEN--2
3TEN--3 ?

200 (ExE)

250 (EXE]

120 (EXE

| 2

| 2

X(1P)=?
200
Y(1P)=?

0
R=?

0
XM(R)=

26.29574287

YM(R)=

224.9634057

XM(L)=
213.7042571

YM(L)=
75.03659429

1TEN--1
2TEN--2
3TEN--3 ?




25-EN CHUSIN/2TEN)

'S M @ E) EE B8

No

(BC)

01)

02)

03)

04)

1TEN--1
2TEN--2
3TEN--3 ?

X1=?
180.822
Y1=?

X2=?

()

()

Ne (

Ne
(EC)

2

180.822

187.854

215.119

)
)

(Nel Ne2)

(Nel Ne2)

X1=?

X1=?
180.822
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0




10)

11)

12)

13)

14)

15)

16)

<< END?SP=mt >>
SP=?
0

SP=?
55.327
W(R=+:L=-)=?

X(SEN)=
154.5625029

Y(SEN)=
193.2031286

A(SEN)=
33°52'29.1”

S(SEN)=
99.25463217

X(HABA)=
159.2477158

Y(HABA)=
189.4549583

A(HABA)=
32°00’ 05.44"
S(HABA)=
104.2487096

<< END9SP=mt >>
SP=?
0

55.327

»

Sp=?
55.327
W(R=+:L=-)=?

0
<< SENJO >>

0
X(SEN)=

154.5625029

Y(SEN)=

193.2031286

A(SEN)=
33°52'29.1"

S(SEN)=
99.25463217

<< KYUTEN >>

[ X (HABA)=

159.2477158
Y(HABA)=
189.4549583

A(HABA)=
32°00’ 05. 44"

S(HABA)=
104.2487096

<< END?SP=mt >>
SP=?
0




31-ZA SETTI/TANKYOKU)

'S M @M EE 68

S(HABA)

S(SEN)
A(SEN)

A(HABA)

BP(BC) S(HABA)

()
X(1P)=? T=2
C o, O () )
()
() ()



01)

02)

03)

04)

05)

06)

07)

08)

CHOKUSEN--1
TANKYOKU--2
CLOTHOID--3 ?

X(BP)=?

X(BP)=?
100
Y(BP)=?

<< T INX=1T >>
X(1P)=?

0
X(1P)=?
200
Y(1P)=?

0
R(R=+:L=-)=?

0

<< KIKAITEN >>

BP --1 IP--2
NINI--3 ?

0
X(KIKAD)=?

0

100

100

200

250

200

120.697

EXE

EXE

EXE

X(BP)=?
0
X(BP)=?
100
Y(BP)=?
0

<< T INX=11 >>
X(1P)=?

0
X(IP)=?

200
Y(IP)=?

0
R(R=+:L=-)=?

0
<< KIKAITEN >>
BP —-1 IP--2
NINI--3 ?

0
[ X(KIKAD)=?

0
X(KIKAI)=?
120.697
Y(KIKAI)=?




09)

10)

11)

12)

13)

14)

15)

X(KIKAD)=?
120.697
Y(KIKAD)=?

<< KOUSITEN >>
BP --1 IP--2

NINI--3 ?

0
X(KOUS1)=?

0
X(KOUS1)=?
185.344
Y(KOUSI)=?

0

<< END9SP=mt >>
SP=?

0
SP=?
86.997
W(R=+:L=-)=?

0
X(SEN)=

131.2530675

Y(SEN)=

180.4558059

95.246

185.344

56.393

86.997

=] 6

EXE

»
EXE

| 2
EXE

»
EXE

| 2
EXE

p
EXE

<< KOUSITEN >>
BP --1 IP--2

NINI--3 ?

0
X(KOUS1)=?

0
X(KOUS1)=?
185.344
Y(KOUS1)=?

0

<< END?SP=mt >>
SP=?

0
Sp=7
86.997
W(R=+:1=-)=?

0
[ << sEngO >>

0
X(SEN)=

131.2530675

Y(SEN)=

180.4558059

A(SEN)=
113°56 38.26"

S(SEN)=
85.86117623




16)

A(SEN)= [ << KYUTEN >>
113°56" 38.26” 0
_ ( ) I
S(SENgg 86117623 EXE ’ X(HABA)=
: 137.1829613
Y(HABA)=
179.5412789
17
) X(HABA)= A(HABA)=
137.1829613 | ) “» 109°56' 24.29”
Y(HABA)= S(HABA)=
179.5412789 EXE 85.89226371
18) (a(HABA)= (<< END3SP=t >>
109°56' 24.29” “’ Sp=>
S(HABA)= ( ) 0
85.89226371 EXE
19 (<< ENDISP=Tt >> )
SP=? ( ) “’
| 'S
§
( / )
OFF 1) ( Om
( 2
OFF
ON )
( 3)
(ALPHA) (FILE] [EXE)
1 6
2 06) / 07)

"(181 183

[

1

)




(w
'S M @M EE 68

S(SEN)

S(HABA)
BP(KA)
(G ,
X(IP)=? T=2
( () () )
(G
)
«C ) ( )
( () () )

01) {CHoKUSEN--1 X(BP)=?
TANKYOKU--2 ( ) » 0
CLOTHOID--3 2

0 3 [EXE




02)

03)

04)

05)

06)

07)

08)

09)

X(BP)=?

0
X(BP)=?

130.9405
Y(BP)=?

0
<< T INX=1T >>
X(1P)=?

0
X(1P)=?

210.056
Y(IP)=?

0
A(R=+:L=-)=?

0
<< KIKAITEN >>
BP --1 1P--2
NINI--3 ?

0
X(KIKAI)=?

0
X(KIKAI)=?

115
Y(KIKAI)=?
0

130.9405

131.916

210.056

213.526

150

115

165

[EXE

EXE

EXE

[EXE

X(BP)=?
130.9405
Y(BP)=?

<< T INX=1t >>
X(1P)=?

0
X(1P)=?

210.056
Y(IP)=?

0
A(R=+:L=-)=?

0
<< KIKAITEN >>
BP -1 IP--2
NINI--3 ?

0
X(KIKAD)=?

0
X(KIKAD)=?

115
Y(KIKAD)=?

0
<< KOUSITEN >>
BP --1 IP--2
NINI--3 ?

0




10)

11)

12)

13)

14)

15)

16)

<< KOUSITEN >>

BP --1 IP--2
NINI--3 ?

0
X(KOUSI)=?

0
X(KOUS1)=?
200
Y(KOUSI)=?

0

<< END9SP=1t >>
SP=?

0
SP=?
86.997
W(R=+:L=-)=?
0
X(SEN)=
187.8287589
Y(SEN)=
197.5909122
A(SEN)=
61°30"50.04"
S(SEN)=

79.78844329

3 (EXE

200 (EXE)

100

86.997

(=) 6 [(EXE

X(KOUS1)=?
0
X(KOUS1)=?
200
Y(KOUS1)=?
0

<< END9SP=m1 >>
Sp=?

0
SP=7
86.997
W(R=+:L=-)=?

0
[ << sENJO >>

0
X(SEN)=

187.8287589

Y(SEN)=

197.5909122

A(SEN)=
61°30’50.04"

S(SEN)=
79.78844329

<< KYUTEN >>

0
X(HABA)=

192.7750375
Y(HABA)=

194.1946896




17)

18)

19)

X(HABA)=
192.7750375

Y(HABA)=
194.1946896

A(HABA)=
57°58' 48.58”
S(HABA)=
83.0739812

<< END?SP=mt >>
SP=?

0
ON"  (
( )
/
))
) /
( /7 )
(i) [ExE
« /7 )
( )
X(1P)=?
(ExP) (EXE)
/
()

X(SITEN)=?

SHIFT

()

A(HABA)=
) “’ 57°58’ 48.58"
S(HABA)=
EXE 83.0739812
<< END9SP=1t >>
=?
“’ SP=% .
[EXE
.
MODE
/ 31-ZA SETTI)

ranlalmEElEa

X-BP( i¥C,KE)=?




C = ) ( )
SP(i7ST)=? BN NO.PICHI=?
( )STNe STNe
@STNe "20m"
(2] ( : ., ) STNe
(3] C = )
«C ) ( )
« ) ( )
( )
5 9 ( STNe )
SP(33ST)="? (1) ST-NO.=?
( )STNe
(1) STNe
(2]
( () () )
STNe ( 1)
STNe STNe

(1

A(HABA)

________________ - AGEN) A(HABA)

S(SEN)

S(HABA)

(KA)

( )SP /KE /KA = )



01)

CHOKUSEN--1 X-BP(i9EC,KE)="?
TANKYOKU--2 ( ) “’ 0
CLOTHOID--3 ?
0 3 (EXE
02) (x-8P(i3EC,KE)=" i X(SITEN)=?
1
0 “’ 0
(i)
03) (x(s1TEN)=" X(SITEN)=?
0 242.2753
“» Y(SITEN)=?
242.2753 [EXE 0
%) (x(siTeny=2 X(SYUTEN)=?
242.2753 0
Y(SITEN)=? “’
0 326.9466 (EXE
08) (x(svuen)=2 X(SYUTEN)=?
0 215.1186
“’ Y(SYUTEN)=?
215.1186 (EXE 0
06
) X(SYUTEN)=? A(R=+:L=-)=?
215.1186 \I» 0
Y(SYUTEN)=?
0 246.1307 (EXE
07) A(R=+:L=-)=? A(R=+:L=-)=?
0 c o) -160
( ) “’ R="?
160 0
C ) )
143 1)

1 [




08) A(R=+:L=-)=? C ) LX=
-160 85.33333333
R=? "’
0 300
09) (ix= ( SP(i3ST)=?
85.33333333 ) " 85.33333333
( )
10) SP(i>ST)=? STNe (i NO.PICHI=?
85.33333333 () ( ) ||» 20
(i)
/ (1) ( )
20)( 2) C )
23)
[ () ( )1 ( 3)
. « ) C )
[ ) ( ) "0 ]
« ) C ) 20)
( ) 10) C ) ( )
C )
LW=85(= ) SP= 1/W=5 :S( )=84(85-1)/W=5
/ 'SP=86/W=5 :S( )=1(86-85)/W=-5
( 1) 143
( 2 C ) ( ) ( )
( 3) [ () ( 1
(1 ( )
1
o 10) 85.33333333 ( ) ( (EXE )
20) ( ) 23)
/
10)  ro" « )

23)




1D no.pcHi=2 . 2° ST-NO.=?
20 ) 0
( I
EXE )
( 20 (ExE))
12) (s7-n0.=2 STNe ST-NO.=?
0 “’ 13
+ KUI =2
13 (ExE 0
13) (s1-No.=2 << KIKAITEN >>
13 “’ BP -1 IP--2
+ KUl =2 NINI--3 ?
0 12.5488 0
11) 13) STNe () () STNe ( 1)
( 2
( 1)STNe Ne (STNo)x (Ne ) ( )
( 2
14
) (<< KIKAITEN > X(KIKAD)=?
BP -1 IP--2 ( ) “’ 0
NINI--3 ?
0 3 [ExE
15) X(KIKAD)=? X(KIKAD)=?
0 “’ 115
Y(KIKAD)=?
115 0
16) (xckikany=2 << KOUSITEN >>
115 “» BP --1 IP--2
Y(KIKAD)=? NINI--3 ?
0 165 0
1) (<< KOUSITEN >> X(KOUS1)=?
BP --1 IP--2 ( ) “’ 0
NINI--3 ?
0 3 (ExE




18)

X(KOUS1)=? X(KOUS1)=?
0 ‘“’, 200
Y(KOUS1)=?
200 0
19 [x(kous)=2 SP(i3ST, Tt JE)=?
200 ‘“', 0
Y(KOUS1)=?
0 100
20 o
) SP(IST,mIE)=? | SThe ST-NO.=?
0 (1 ) 0
»
(G (Exe
21
) ST-NO.=? STNe ST-NO.=?
0 “» 10
+ KUl =?
10 (ExE 0
22) (s7-No.=2 ° W(R=+:L=-)=?
10 ( ‘“', 0
+ KUl =? EXE )
0
EXE) ( 0 (ExE))
187.2154667 STNe 7.2154667 21) 22)
STNe 7.2154667 STNel3 12.5488
2) (W(r=+:L=—)= ( 5m) [<< sENIO >>
0 “’ 0
LX=
5 [EXE 12.78453333
SP=
200
24) (1x= X(SEN)=
12.78453333 ( ) “’ 220.0821651
SP= Y(SEN)=
200 EXE 257.9114566




25)

X(SEN)= A(SEN)=
220.0821651 | ( ) “’ 78°53'16.08”
Y(SEN)= S(SEN)=
257.9114566 140.2668892
26 .
) A(SEN)= << KYUTEN >>
78°53’16.08" 0
( ) I
S(SEN)= ’ X(HABA)=
1402668892 EXE 215.4380582
Y(HABA)=
259.7640955
21) X(HABA)= A(HABA)=
215.4380582 | ¢ ) “’ 80°44’ 25_45"
Y(HABA)= S(HABA)=
259.7640955 EXE 138.0870643
28) [ p(HABA)= SP(i3ST, 1T 3E)=?
80°44’ 25.45" “’ 0
S(HABA)= ( )
138.0870643 EXE
29) SP(i7ST, Tt FE)=? , , ) << KIKAITEN >>
o| ™ BP --1 IP--2
14) “’ NINI--3 ?
0
/ /
( ) 18) 19)
06) 07)
STNe
( ) ( 1) Neo No
ST( Ne
STNe
1 "20m" "10m" ( "STNe ")




"1

BP

No5
Ne7
KA1-1
Ne8

KE1-1

()

Ne
Ne 0+ 0.000

Ne 5+ 0.000

Ne 7+ 0.000
Ne 7+ 6.854
Ne 8+ 0.000

Ne 9+14.854

KA

BP  SP=0m

20m

SP=10m

10m - -

BP  SP=-10m

BC  SP=30m

BC SP=20m

EC

( )

0 0.000 87631.345  55632.104
100.000 20.000  87721.504  55675.175
140.000 20.000  87757.694  55692.403
146.854 6.854  87763.880  55695.355
160.000 14.146  87775.733  55701.041
104.854 | 14.854  87806.621  55717.170

( )
- ( )
3
EC sp=4
e C SP=dom
EC SP=30m

25-30-45
25-30-45
25-30-45
25-30-45
25-51-36

30-05-46



32-KYOKUSEN)
e BlalalalEa

S(HABA)

KA2

g
BP A(HABA

EN

« )
( ) << RIGHT >>

<< LEFT >>
( )

1) R(TOTSU R=0)=? )

2) A1=? A2=? (0)
(G ) .



01)

02)

03)

04)

05)

06)

07)

08)

X(BP)=?

0
X(BP)=?
87631.345
Y(BP)=?

0
X(1P)=?

0
X(1P)=?
87829.894
Y(IP)=?

0
X(EP)=?

0
X(EP)=?
87931.116
Y(EP)=?

0
<< RIGHT >>
1A=

18°35'22.37"

SP=?

0

87631.345

55632.104 |EXE

87829.894

EXE

55726.859

87931.116

55824.956

—~
~

ExE) « 0 (ExE)

X(BP)=?
87631.345
Y(BP)=?

0
X(1P)=?

0
X(1P)=?
87829.894
Y(IP)=?

0
X(EP)=?

0
X(EP)=?
87931.116
Y(EP)=?

0
<< RIGHT >>
1A=

18°35'22.37”

SP=?

0
Al=?

0




09)

10)

11)

12)

13)

14)

15)

16)

A1=?
0
A1=?
120
R(TOTSUIR=0)="?
0
R(TOTSUIR=0)="?
300
A2=?
0
X(KAL)=
87763.88019
Y(KAL)=
5569535474
Y(KAL)=
55695.35474
SP(KAL)=
1468544599
X(KE1)=
87806.62111
Y(KE1)=
55717.16995
Y(KE1)=
55717.16995
SP(KE1)=
1948544599
X(KE2)=
87847.08315
Y(KE2)=

55745.29913

120 (ExE)

300 (ExE)

120 (EXE)

Al=?
120
R(TOTSU3R=0)="?

0

[R(TOTSUIR=0)=2
300
A2=7

0

[ << WAIT... >> ]

X(KAL)=
87763.88019

Y(KAL)=
5569535474

Y(KAL)=
5569535474

SP(KAL)=
1468544599

X(KE1)=
87806.62111

Y(KE1)=
55717.16995

Y(KEL)=
55717.16995

SP(KE1)=
194.8544599

X(KE2)=
87847.08315

Y(KE2)=
55745.29913

Y(KE2)=
55745.29913

SP(KE2)=
2441891082




17)

18)

19)

20)

21)

22)

23)

24)

Y(KE2)=
55745.29913

SP(KE2)=
2441891082

X(KA2)=
87882.42052

Y(KA2)=
55777.76388

Y(KA2)=
55777.76388

SP(KA2)=
292.1891082

SP(EP)=
360.0002163

XM(EN)=
8765618654

YM(EN)=
55976.72619

<< KIKAITEN >>

BP--1 IP --2
EP--3 NINI--4 ?

0
X(KIKAD)=?

0
X(KIKAD)=?
87829.166
Y(KIKAD)=?

0

EXE

4

87829.166

55777.304

X(KA2)=
87882.42052

Y(KA2)=
55777.76388

Y(KA2)=
55777.76388

SP(KA2)=
292.1891082

SP(EP)=
360.0002163

XM(EN)=
8765618654

YM(EN)=
55976.72619

<< KIKAITEN >>

BP--1 IP --2
EP--3 NINI--4 ?

0
X(KIKAD)=?

0
X(KIKAD)=?
87829.166
Y(KIKAD)=?

0

<< KOUSITEN >>

BP--1 IP --2

EP--3 NINI--4 ?
0




25)

26)

27)

28)

29)

30)

31)

<< KOUSITEN >>

BP--1 IP --2

EP--3 NINI--4 ?
0

<< END9SP=mt >>
SP=?

0
SP=?
60
W(R=+:L=-)=?
0
X(SEN)=
87685.49461
Y(SEN)=
55657.94622
A(SEN)=
308°53'31.03"
S(SEN)=
186.7826277
X(HABA)=
87688.07883
Y(HABA)=
5565253125
A(HABA)=
310°39' 41.95”
S(HABA)=

188.3449708

2

60

( 6m)

(=D 6 EE

[EXE

EXE

<< END9SP=1t >>
SP=?

0
Sp=7
60
W(R=+:L=-)=?

0
[ << sENJO >>

0
X(SEN)=

8768549461

Y(SEN)=

55657.94622

A(SEN)=
308°53’31.03"

S(SEN)=
186.7826277

<< KYUTEN >>

0
X(HABA)=
87688.07883
Y(HABA)=

55652.53125

A(HABA)=
310°39’ 41.95"

S(HABA)=
188.3449708

<< END9SP=mt >>
SP=?
0




32)

33)

34)

35)

36)

37)

39)

<< END9SP=1t >>
SP=?

0
SP=?
120
W(R=+:L=-)=?
0
X(SEN)=
87739.64421
Y(SEN)=
55683.78843
A(SEN)=
315°25'23.36"
S(SEN)=
129.4577615
X(HABA)=
87737.4907
Y(HABA)=
556883009
A(HABA)=
313°1933.09”
S(HABA)=
127.7728988

<< END9SP=mt >>
SP=?
0

120 (Exg)

( 5m)

5 [EXE

EXE

»

»

SP=?
120
W(R=+:L=-)="?
0
<< SENJO >>
0
X(SEN)=
87739.64421
Y(SEN)=
55683.78843
A(SEN)=
315°25'23.36"
S(SEN)=
129.4577615
<< KYUTEN >>
0
X(HABA)=
87737.4907
Y(HABA)=
55688.3009
A(HABA)=
313°19’33.09”
S(HABA)=
127.7728988

<< END?SP=mt >>
SP=?

0
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aNLS

aNLS ( ) oNLS
( () () )
o
NS [ NLS NLS( )
¢="ON-1S EXE)l ¢=(15¢Hds NLS
( )
( )
( )
oNLS
NLS : ()
5NL1S oNLS
, () ( ()
@3 (] =tV =TV (z
@3 () ¢=(0=¥¢ns101)Y (T
(]
NS o
W0z, N1S@ aNLS
aNLS( ) ¢=IHJ1d ON @3 (1] ¢=(1S¢1)dsS
( )
<< 1437 >> << IHOIY >> ( )
() |
, ( )
¢=(dF1)2d1-X EXEEN ¢=(2dIen)da-x

( )T



05)

05.1)

05.2)

05.3)

06)

07)

X-EP(i31P2)=?

0
X-1P2(i7EP)=?

0
X-1P2(i7EP)="?
88045.325
Y-1P2=7

0
X(EP)=?

0
X(EP)=?
88294 .407
Y(EP)=?

0
-— IP1 ---
<< RIGHT >>
1A=

18°35722.84"”

(1 )

EBIE3

88045.325

55935.640

88294.407

56039.843

EXE

EXE

[EXE]

X-1P2(i3EP)=?

X-1P2(iEP)=?
88045.325
Y-1p2=?

X(EP)=?

X(EP)=?
88294.407
Y(EP)=?

-— IP1 ---
<< RIGHT >>
1A=
18°35'22.84"

-— P2 ---
<< LEFT >>
1A=
21°23'59.97”




07.5)

08)

08.1)

08.2)

08.3)

09)

10)

11)

-— P2 ---
<< LEFT >>
1A=
21°23'59.97”
SP(17ST)=?
0
NO.PCHI=?
20
ST-NO.=?
0
ST-NO.=?
0
+ KUl =?
0
-— P11 ---
Al=?
0
Al=?
120

R(TOTSU3R=0)="?

0

R(TOTSU3R=0)="?
300
p2=2

) SP(i3ST)=?
) | 2 0
NO.PCHI=?
(i ) 20
[ 2
i EXE
L [ST-NO.=2
[ 2 0
[EXE] )
ExE) ( 20 (ExE))
o ST-NO.=?
- 0
(EXE) ) ‘“" + KUl =? .
EXE) ( 0 (ExE))
0 —— IP1 -
“’ Al=?
) 0
EXE) ( 0 (ExE))
A1=?
120
“’ R(TOTSU3R=0)=?
120 (EXE] 0
R(TOTSU3R=0)=?
300
“’ A2=?
300 (ExE) 0
-— P2 -
=2
‘“'> Al=" .

120 (ExE)




11.1)

112)

11.3)

11.4)

13)

13.5)

— P2 --—- Al=?
A1=? 90
0 “’ R(TOTSU3R=0)=?
90 |EXE 0
A1=? R(TOTSU3R=0)=?
20 N \I’ 259
(TOTSU9R=0)=7 A2=?

0 250 0
R(TOTSUIR=0)=? — IP1 ---
250 << WAIT... >

I |
A2=7? ’ << KA-1 >>
0 110 0
ST-NO.=
7
+ KUl =
6.854111443
_ ( _
ST-NO.= ) ST X(KAL)=

7 ) No “’ 87763.87987

+ KUI = 08) 08.3) Y(KAL)=
6.854111443 EXE 55695 . 35459

Y(KAL)= ( << KE-1(BC) >>

55695 . 35459 ) “’ 0
SP(KAL)= ) ST-NO.= ‘
146.8541114 EXE 9

+ KUl =
14.85411144

ST-NO.= ( X(KE1)=

STNe

9 ) No \I’ 87806.62079

+ KUI = 08) 08.3) Y(KE1)=
14.85411144 55717.1698
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